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भौǓतक ͪव£ान  
क¢ा 12  
इकाई 8  
Ĥæन बɇक 

Assertion-Reason Questions 
 
Instructions: Select the correct option for each Assertion-Reason question. 
(A) Both assertion and reason are correct, and the reason is the correct explanation of assertion. 
(B) Both assertion and reason are correct, but the reason does not explain the assertion. 
(C) Assertion is correct, but the reason is incorrect. 
(D) Assertion is incorrect, but the reason is correct. 

Ǔनदȶश :-  

Ĥ×येक कथन कारण Ĥकार के Ĥæन के ͧलए Ǔनàन मɅ से ͩकसी एक सहȣ ͪवकãप का चयन करɅ - 
   A)    A और R दोनɉ सहȣ हɇ, और R, A कȧ सहȣ åयाÉया करता है। 

B)     A और R दोनɉ सहȣ हɇ, लेͩ कन R, A कȧ सहȣ åयाÉया नहȣं करता। 

C)     A सहȣ है, लेͩ कन R गलत है। 

      D)    A गलत है, लेͩ कन R सहȣ है। 

Assertion-Reason Questions 

S.No. Questions 

1 

कथन: रदरफोड[ के Ĥयोग मɅ अͬधकांश अãफा कण सोने कȧ पÛनी से ǒबना ͪवचͧलत हुए सीधे 
Ǔनकल गए। 
कारण: परमाणु का अͬधकांश भाग ǐरÈत èथान (empty space) होता है। 
Assertion: The majority of the alpha particles in Rutherford’s experiment passed through the gold 
foil without deflection. 
Reason: Most of the atom's volume is empty space. 

2 

कथन: रदरफोड[ का परमाणु मॉडल इलेÈĚॉनɉ कȧ िèथरता को नहȣं समझा सका। 
कारण: आवेͧशत कण गǓत करते समय Ǔनरंतर ऊजा[ गंवाते हɇ, िजसस ेपरमाणु का पतन हो सकता 
है। 
Assertion: Rutherford’s model could not explain the stability of electrons in an atom. 
Reason: Accelerating charged particles continuously lose energy, leading to the collapse of the 
atom. 

3 

कथन: बोहर का मॉडल हाइĜोजन परमाणु मɅ इलेÈĚॉनɉ के ͪवͪवÈत ऊजा[ èतरɉ को समझाता है। 
कारण: बोहर के मॉडल मɅ इलेÈĚॉन केवल Ǔनिæचत ऊजा[ वाले Èवांटȣकृत क¢ाओं मɅ हȣ रह सकते 
हɇ। 
Assertion: Bohr’s model explains the discrete energy levels of electrons in hydrogen atoms. 
Reason: Electrons in Bohr’s model can only occupy certain quantized orbits with fixed energies. 
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4 

कथन: जब एक इलेÈĚॉन Ǔनàन क¢ा मɅ जाता है, तो उसकȧ ऊजा[ घटती है। 
कारण: जब इलेÈĚॉन Ǔनàन ऊजा[ èतर मɅ संĐमण करता है, तो ऊजा[ फोटॉन के Ǿप मɅ उ×सिज[त 
होती है। 
Assertion: The energy of an electron in an orbit decreases as it moves to a lower orbit. 
Reason: Energy is emitted in the form of photons when an electron transitions to a lower energy 
level. 

5 

कथन: हाइĜोजन èपेÈĚम मɅ ͪवͧशçट वण[Đमीय रेखाएँ होती हɇ। 
कारण: इलेÈĚॉन ͪवͪवÈत ऊजा[ èतरɉ के बीच संĐमण करते हɇ और ͪवͧशçट तरंगदैÚय[ के फोटॉन 
उ×सिज[त करते हɇ। 
Assertion: The hydrogen spectrum consists of distinct spectral lines. 
Reason: Electrons transition between discrete energy levels, emitting photons of specific 
wavelengths. 

6 

कथन: इलेÈĚॉन कȧ क¢ा कȧ ǒğÏया Ĥमुख Èवांटम संÉया (n) के साथ बढ़ती है। 
कारण: इलेÈĚॉन कȧ गǓत के ͧलए आवæयक अͧभकɅ ġ बल िèथरवैɮयुत  आकष[ण ɮवारा Ĥदान ͩकया 
जाता है। 
Assertion: The radius of an electron’s orbit increases with the principal quantum number. 
Reason: The centripetal force required for an electron’s motion is provided by electrostatic 
attraction. 

7 

कथन: परमाणु का नाͧभक अ×यͬधक घना होता है। 
कारण: परमाणु का अͬधकांश ġåयमान नाͧभक मɅ कɅ Ǒġत होता है। 
Assertion: The nucleus of an atom is extremely dense. 
Reason: Most of the atomic mass is concentrated in the nucleus. 

8 

 कथन: नाͧभकȧय बल लघु-पǐरसर  (short-range) के होते हɇ लेͩकन अ×यͬधक Ĥबल होते हɇ। 
कारण: वे अ×यतं छोटȣ दरूȣ पर Ĥोटॉनɉ के बीच ͪवɮयतुèथैǓतक ĤǓतकष[ण को Ûयनू कर देत ेहɇ। 
Assertion: Nuclear forces are short-range but extremely strong. 
Reason: They overcome electrostatic repulsion between protons at very short distances. 

9 

कथन: ĤǓत ÛयूिÈलऑन बंधन ऊजा[ लोहे के ͧलए अͬधकतम होती है। 
कारण: लोहे का नाͧभक सवा[ͬधक िèथर होता है Èयɉͩक इसमɅ नाͧभकȧय बलɉ का संतुलन सबसे 
अÍछा होता है। 
Assertion: The binding energy per nucleon is highest for iron. 
Reason: Iron has the most stable nucleus due to its optimal balance of nuclear forces. 
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1 Mark  Questions 

1 
कौन सा समीकरण ġåयमान-ऊजा[ समतुãयता को åयÈत करता है?  

Which equation represents mass-energy equivalence? 

2 
नाͧभकȧय बलɉ कȧ ĤकृǓत कैसी होती है? 

What is the nature of nuclear forces? 

3 
रदरफोड[ के अãफा  -कण Ĥकȧण[न Ĥयोग से परमाणु कȧ कौन  -सी आंतǐरक भौǓतक सरंचना  कȧ खोज हुई थी? 
Which internal physical structure of the atom was discovered through Rutherford’s alpha-particle scattering 
experiment? 

4 
इलेÈĚॉन को उÍच ऊजा[ èतर पर ले जाने के ͧलए आवæयक ऊजा[ को Èया कहते हɇ? 

 What is the energy required to move an electron to a higher energy level called? 

5 
परमाणु नाͧभक के ͪवखंडन पर ऊजा[ का उ×सज[न Èयɉ होता है? 
Question: Why is energy emitted when an atomic nucleus undergoes fission? 

6 
नाͧभक कȧ ǒğÏया ͩकस Ĥकार से Ĥोटॉन और ÛयĚूॉन कȧ सÉंया स ेसबंंͬ धत होता है? 
How is the radius of the nucleus related to the number of protons and neutrons? 

7 
नाͧभक कȧ ǒğÏया £ात करने के ͧलए कौन सा सğू ĤयÈुत होता है? 
Question: Which formula is used to measure the radius of nucleus ? 

 8 
नाͧभकȧय सलंयन मÉुय Ǿप से ͩकस Ĥकार के नाͧभकɉ के सलंयन स ेऊजा[ उ×पÛन करता है? 

Nuclear fusion primarily generates energy by the fusion of which type of nuclei? 

 9 
रदरफोड[ मॉडल के अनुसार, इलेÈĚॉन कȧ वƣृीय गǓत ͩकस बल के कारण होती है?  

According to Rutherford’s model, what force governs the circular motion of electrons? 

 10 
रदफोड[ के Ĥयोग मɅ α कणɉ के बड़ ेĤकȧण[न से परमाण ुके ͩकस भाग के अिèत×व का अनमुान लगाया गया? 
The large deflection of α particles in Rutherford's experiment was attributed to the existence of what? 

S.No. 2 Marks  Questions  

1. 
रदरफोड[ के परमाणु मॉडल मɅ इलेÈĚॉनɉ के अिèत×व को अिèथर बनाने वालȣ मÉुय समèया Èया थी? 
What was the main issue in Rutherford's atomic model that made the existence of electrons unstable? 

3 
बोहर के परमाणु मॉडल के अनसुार, इलेÈĚॉन केवल ͩकन ͪवͧशçट क¢ाओं मɅ िèथर Ǿप से रह सकते हɇ? 
 According to Bohr's atomic model, in which specific orbits can electrons exist stably? 

4 
जब इलेÈĚॉन उÍच क¢ा से Ǔनàन क¢ा मɅ जाता है, तो कौन सी भौǓतक ĤͩĐया होती है?  

What physical process occurs when an electron moves from higher orbit to a lower orbit? 

5 हाइĜोजन èपेÈĚम मɅ अलग-अलग वण[-रेखाएँ Èयɉ होती हɇ?  
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Why does the hydrogen spectrum consist of discrete spectral lines? 

6 

इलेÈĚॉन कȧ क¢ा कȧ ǒğÏया ͩकस Ĥकार के Èवांटम सÉंया के आधार पर बढ़ती है, और इसके 
पǐरणामèवǾप Èया भौǓतक पǐरवत[न होत ेहɇ? 
 With which quantum number does the radius of an electron’s orbit increase, and what physical changes 
occur as a result? 

7 
परमाणु नाͧभक अ×यͬधक सघन Èयɉ होता है?  

Why is the atomic nucleus extremely dense? 

8 
नाͧभकȧय बलɉ कȧ दो मह×वपूण[ ͪवशषेताए  Èया है?  

What are  two important characteristics  of nuclear forces? 

9 
ͩकस त×व के ͧलए ĤǓत ÛयूिÈलयॉन बंधन ऊजा[ सबसे अͬधक होती है?  

For which element the binding energy per nucleon is the highest? 

10 
नाͧभकȧय संलयन मɅ नाͧभकȧय ͪवखंडन कȧ तुलना मɅ अͬधक ऊजा[ Èयɉ उ×पÛन होती है?  

Why does nuclear fusion release more energy per nucleon than nuclear fission? 

S. 
No. 

3 अकं वाले Ĥæन  

1 

रदरफोड[ के Ĥयोग मɅ अͬधकांश अãफा-कण ǒबना ͪवचलन के èवण[ पğ से पार Èयɉ हो गए? यह 
परमाणु कȧ संरचना के बारे मɅ Èया दशा[ता है?  

Why did most alpha particles pass through the gold foil in Rutherford’s experiment without 
deflection? What does this reveal about the atomic structure? 

2 

यǑद परमाणु मɅ इलेÈĚॉन आवेͧशत कण हɇ और नाͧभक उÛहɅ आकͪष[त करता है, तो वे नाͧभक मɅ 
Èयɉ नहȣं ͬगरते?  

If electrons in an atom are charged particles and are attracted to the nucleus, why don’t they 
collapse into it? 

3 

बोर मॉडल मɅ इलेÈĚॉनɉ के ऊजा[ èतर असतत Èयɉ होते हɇ, जबͩक Èलाͧसकल ͩफिजÈस मɅ ऊजा[ 
èतर सतत होते है?  

Why do electrons in Bohr’s model have discrete energy levels, whereas classical physics 
predicts continuous energy levels? 

4 

जब एक इलेÈĚॉन उÍच ऊजा[ èतर से Ǔनàन ऊजा[ èतर पर जाता है, तो उ×सिज[त फोटॉन कȧ ऊजा[ 
को कैसे Ǔनधा[ǐरत ͩकया जाता है?  

How is the energy of the emitted photon determined when an electron transitions from a higher to a 
lower energy level? 

5 
हाइĜोजन èपेÈĚम मɅ केवल कुछ Ǔनिæचत तरंग दैÚय[ कȧ रेखाएँ Èयɉ Ǒदखाई देती हɇ? समझाइए।  

Why does the hydrogen spectrum show only certain specific wavelength lines?Explain.   

6 मÉुय Èवांटम सÉंया (n) के बढ़ने पर ͩकसी परमाणु मɅ इलेÈĚॉन कȧ क¢ा कȧ ǒğÏया Èयɉ बढ़ती है? Èया यह 
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Ĥवृͪ ƣ बहु-इलेÈĚॉन परमाणओुं मɅ भी समान होती है? अपने उƣर को उͬचत èपçटȣकरण सǑहत Ĥèततु करɅ।" 
Why does the radius of an electron’s orbit increase as the principal quantum number (n) increases? Is this 
trend the same in multi-electron atoms? Explain with reasoning.  
 

7 

परमाणु का ġåयमान मुÉय Ǿप से नाͧभक मɅ कɅ Ǒġत Èयɉ होता है, जबͩक इलेÈĚॉन पूरे परमाण ुमɅ 
फैले होते हɇ?  

Why is most of an atom’s mass concentrated in the nucleus, even though electrons are distributed 
around it? 

8 

ͪवæलेषण करɅ ͩक रदरफोड[ मॉडल इलेÈĚॉन कȧ गǓत और उसकȧ िèथरता को Èयɉ नहȣं समझा 
सका?  

Why couldn’t Rutherford’s model explain the motion and stability of electrons? Analyze. 

9 

यǑद नाͧभकȧय बल अ×यͬधक शिÈतशालȣ होत ेहɇ, तो वे केवल बहुत छोटे अतंराल पर हȣ Ĥभावी Èयɉ होत ेहɇ? 
भौǓतकȧ के मलूभतू ͧसɮधातंɉ के आधार पर तक[ सगंत Ǿप से ͪवæलेषण करɅ। 
If nuclear forces are extremely powerful, why are they effective only over very short distances? Analyze 
rationally based on fundamental principles of physics. 

10 

बंधन ऊजा[ ĤǓत ÛयूिÈलयॉन लोहे के ͧलए अͬधकतम Èयɉ होती है? तुलना करɅ ͩक बंधन ऊजा[ ĤǓत 
ÛयूिÈलयॉन भारȣ नाͧभको के ͪवखंडन एवं हãके नाͧभकɉ संलयन ĤͩĐयाओं को कैसे Ĥभाͪवत करता 
है। 
Why is the binding energy per nucleon highest for iron Compare how the binding energy per 
nucleon affects fusion in lighter nuclei and fission in heavier nuclei. 
 

11 

नाͧभकȧय संलयन, नाͧभकȧय ͪवखंडन कȧ तुलना मɅ अͬधक ऊजा[ उ×पÛन करता है, लेͩकन इसे 
åयावहाǐरक ऊजा[ İोत के Ǿप मɅ लागू करना चुनौतीपूण[ Èयɉ है? संलयन और ͪवखंडन कȧ ऊजा[ 
उ×पादन , द¢ता, और दȣघ[काͧलक Ĥभावɉ कȧ तुलना करɅ तथा भͪवçय मɅ ऊजा[ उ×पादन के ͧलए 
आपके ͪवचार से कौन अͬधक उपयुÈत है? 

Nuclear fusion produces more energy compared to nuclear fission, yet its practical implementation 
as an energy source remains challenging. Compare the energy yield, efficiency, and long-term 
impacts of fusion and fission, and evaluate which one you think is more suitable for future energy 
production. 

12 

रदरफोड[ के Ĥयोग मɅ केवल कुछ अãफा-कण अ×यͬधक ͪवचͧलत हुए। यǑद इस Ĥयोग मɅ सभी 
अãफा-कण समान Ǿप से ͪवचͧलत होते, तो इससे परमाणु संरचना कȧ हमारȣ वत[मान समझ पर 
Èया Ĥभाव पड़ता?" 

In Rutherford’s experiment, only a few alpha particles were highly deflected. If all alpha particles 
were equally deflected, how would this impact our current understanding of atomic structure? 
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13 

सूय[ कȧ ऊजा[ उ×पादन ĤͩĐया मɅ नाͧभकȧय संलयन कȧ भूͧमका का ͪवæलेषण करɅ। इसकȧ तुलना 
नाͧभकȧय ͪवखंडन से करɅ और चचा[ करɅ ͩक Èया कृǒğम संलयन ऊजा[ İोत के Ǿप मɅ åयवहाय[ हो 
सकता है। 
Analyze the role of nuclear fusion in the Sun's energy production. Compare it with nuclear fission 
and discuss whether artificial fusion could be a viable energy source for the future. 
 

15 

ͪवæलेषण करɅ ͩक ÛयĚूॉन -Ĥोटॉन अनपुात मɅ वɮृͬध परमाणु िèथरता को कैसे Ĥभाͪवत करती है। ͩकन 
पǐरिèथǓतयɉ मɅ यह अनपुात परमाणु िèथरता को बढ़ाता या घटाता है? 
Analyze how an increase in the neutron-to-proton ratio affects nuclear stability. Under what conditions 
does this ratio enhance or reduce nuclear stability? 

16 

सैɮधांǓतक और Ĥयोगा×मक Ǻिçटकोण से, परमाणु के परमाणु ġåयमान, परमाणु संÉया और 
इलेÈĚॉǓनक संरचना का आपस मɅ Èया संबंध है?  

From both theoretical and experimental perspectives, what is the relationship between an atom's 
atomic mass, atomic number, and electronic configuration?  

17 

ͩकसी नाͧभक मɅ बंधन ऊजा[ बढ़ने के Ĥभावɉ का इसकȧ िèथरता तथा नाͧभकȧय अͧभͩĐयाओं 
(नाͧभकȧय ͪवखंडन और संलयन) मɅ इसकȧ भूͧमका के संदभ[ मɅ मूãयांकन करɅ। Èया अ×यͬधक 
बंधन ऊजा[ वाला कोई भी नाͧभक िèथर होता है?  "Evaluate the effects of increased binding energy 

in a nucleus, particularly in terms of its stability and its role in nuclear reactions (fission and fusion). 
Is any nucleus with extremely high binding energy necessarily stable?  

18 

 ͩकस ͧसɮधांत के अनुसार इलेÈĚॉन परमाणु मɅ ͩकसी ͪवशषे ऊजा[ èतर मɅ िèथर रहते हɇ, और यह 
ͧसɮधांत परमाणु कȧ संरचना और èपेÈĚंम रेखाओं को समझाने मɅ कैसे सहायता करता है? 

Which  ensures that electrons remain at specific energy levels in an atom, and how does this 
principle help explain the atomic structure and spectral lines? 

19 

सूय[ मɅ हाइĜोजन के संलयन कȧ ĤͩĐया के दौरान बनने वाले त×वɉ कȧ Įृखंला को ͪवèतार से 
समझाइए। इस ĤͩĐया से उ×पÛन ऊजा[ कȧ माğा का Ĥभाव सूय[ के जीवनकाल और िèथरता पर 
कैसे पड़ता है।  

Explain the series of elements formed during the hydrogen fusion process in the Sun in detail. How 
does the amount of energy released during this process impact the Sun's lifespan and stability?  

20 

यǑद एक परमाणु के नाͧभक मɅ ÛयĚूॉन या Ĥोटॉन कȧ सÉंया मɅ बदलाव ͩकया जाए, तो परमाणु के गणुधमɟ 
पर Èया Ĥभाव पड़गेा? 
If the number of neutrons or protons in an atom's nucleus is altered, how would the properties of the atom 
change? 

21 एक हाइĜोजन परमाणु मɅ पहले क¢ा (n=1) के ͧलए क¢ा कȧ ǒğÏया तथा इस क¢ा मɅ इलेÈĚॉन 
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का वेग £ात करɅ। 
Find the radius of the first orbit (n=1) and velocity of electron in a hydrogen atom. 

22 

हाइĜोजन परमाणु के ͧलए n=2 से n=1 क¢ा मɅ इलेÈĚॉन का संĐमण होने पर उ×सिज[त फोटॉन कȧ 
ऊजा[ £ात करɅ। 
Calculate the energy of a photon emitted when an electron in a hydrogen atom transits  from n=2 to 
n=1. 

23 

हाइĜोजन परमाणु मɅ लाइमन Įृखंला के व अÛय ऊजा[ Įेͨणयɉ आǑद के बीच ͧभÛनताओं का 
ͪवæलेषण करɅ।  
Analyze the differences between the Lyman series and other energy series in a hydrogen atom. 

24 

यǑद हȣͧलयम नाͧभक को दो Ĥोटॉनɉ और दो ÛयूĚॉनɉ मɅ तोड़ा जाए तो ͩकतनी ऊजा[ अवमुÈत 
होगी? 

How much energy will be released if a helium nucleus is broken into two protons and two neutrons? 

25 

ɬयटेूǐरयम (²H) और ǑĚǑटयम (³H) के सलंयन स ेउ×पÛन ऊजा[ Q £ात करɅ। 
Calculate the energy Q released in the fusion of deuterium (²H) and tritium (³H). 
²H+3H→4He+1n+Q 
Ǒदया गया है: 
Given: 

कण (Particle)     ġåयमान mass (u मɅ) 

²H (ɬयटेूǐरयम)     2.014102 u 

³H (ǑĚǑटयम)       3.016049 u 

⁴He (हȣͧलयम)      4.002603 u 

¹n (ÛयĚूॉन)        1.008665 u 
 

26 
यǑद ͩकसी परमाण ुके नाͧभक कȧ ǒğÏया  7.0×10−15 m है, तो उसमɅ ÛयिूÈलयॉन कȧ लगभग सÉंया £ात करɅ।  
If the nuclear radius of an atom is 7.0×10−15 m, find the approximate number of nucleons. 

28 

²³⁸U के कुल बधंन ऊजा[ 1.8×10⁸ J है। इस आधार पर, ĤǓत ÛयिूÈलयॉन बधंन ऊजा[ कȧ गणना करɅ। साथ हȣ, 
यह समझाइए ͩक बधंन ऊजा[ और ÛयिूÈलयॉन कȧ सÉंया के बीच Èया सबंधं है और ĤǓत ÛयिूÈलयॉन बधंन 
ऊजा[ Èयɉ मह×वपणू[ है। 
The total binding energy of ²³⁸U is 1.8×10⁸ J  . Based on this, calculate the binding energy per nucleon. 
Additionally, explain the relationship between binding energy and the number of nucleons.  

29 
काब[न-12 (¹²C) नाͧभक के ͧलए घन×व कȧ गणना करɅ। 
Calculate the density of a carbon-12 (¹²C) nucleus. 

30 

यǑद नाͧभकȧय संलयन ĤǓतͩĐया मɅ 4.5 MeV ĤǓत ÛयूिÈलयॉन ऊजा[ मुÈत होती है, तो 10g हȣͧलयम 
मɅ मुÈत ऊजा[ ͩकतनी होगी? 

If a nuclear fusion reaction releases 4.5 MeV per nucleon, how much energy is released in 10g of 
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helium? 

31 

यǑद ²³⁵U का एक नाͧभक ͪवखंडन करता है और 200 MeV ऊजा[ उ×सिज[त होती है, तो 1g यूरेǓनयम 
से मुÈत कुल ऊजा[ कȧ गणना करɅ। 
If one nucleus of ²³⁵U undergoes fission releasing 200 MeV, calculate the total energy released from 
1g of uranium. 

 
 

3 Marks Questions- 
 

 
 

1 

रदरफोड[ के Ĥकȧण[न Ĥयोग मɅ अͬधकांश α-कण ǒबना ͩकसी ͪवचलन के सोने कȧ पÛनी से Ǔनकल  
गए, जबͩक कुछ कण अ×यͬधक ͪव¢ेͪपत हुए। इस Ĥयोग के पǐरणामɉ के आधार पर, परमाणु के 
अदंर नाͧभक कȧ उपिèथǓत और उसका आकार कैसे Ǔनधा[ǐरत ͩकया गया?  

In Rutherford’s scattering experiment, most alpha particles passed through the gold foil undisturbed, 
while some were highly deflected. Based on the results of this experiment, how was the presence and 
size of the nucleus in an atom determined?  

2 

यǑद रदरफोड[ का मॉडल पणू[ Ǿप से सहȣ होता, तो इलेÈĚॉन ऊजा[ खोकर अतंतः नाͧभक मɅ ͬगर जाते । 
हालांͩ क, वाèतͪवकता मɅ ऐसा नहȣं होता। इस ͪवरोधाभास को बोर के मॉडल और मैÈसवेल के  ͧसɮधांतɉ के 
सदंभ[ मɅ ͩकस Ĥकार èपçट ͩकया जा सकता है? 
If Rutherford’s model were entirely correct, electrons would gradually lose energy and spiral into the 
nucleus. However, this does not happen in reality. How can this contradiction be explained in the context of 
Bohr’s model and Maxwell's theory? 

3 

बोर मॉडल के अनुसार हाइĜोजन परमाणु मɅ ऊजा[ èतर असतत होते हɇ, और ये ऊजा[ èतर ͪवशषे 
क¢ाओं मɅ िèथत होते हɇ। इसके प¢ मɅ ͩकस Ĥकार के Ĥयोगा×मक Ĥमाण उपलÞध हɇ और बोर 
मॉडल इन ऊजा[ èतरɉ को कैसे èपçट करता है? इन èतरɉ के बीच संĐमण से ऊजा[ उ×सज[न या 
अवशोषण कैसे होता है? 

According to Bohr’s model, energy levels in a hydrogen atom are discrete and occur in specific 
orbits. What experimental evidence supports this, and how does Bohr’s model explain these energy 
levels? How does energy emission or absorption occur when transitions happen between these 
levels? 

 

4 

हाइĜोजन èपेÈĚम मɅ केवल कुछ ͪवͧशçट तरंगदैÚय[ कȧ रेखाएँ Èयɉ Ǒदखाई देती हɇ, जबͩक अÛय 
तरंगदैÚय[ अनुपिèथत रहते हɇ? बोर मॉडल के ͧसɮधांतɉ के आधार पर, यह ͪवͧशçट रेखाएँ ͩकस Ĥकार 
उ×पÛन होती हɇ और Èयɉ इÛहɅ ‘èपेÈĚल लाइÛस’ कहा जाता है? 

Why are only certain wavelengths observed in the hydrogen spectrum, while others are absent? 
Based on the principles of Bohr’s model, how are these specific lines produced, and why are they 
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referred to as ‘spectral lines’? 

5 

एक पǐरकãपना दɅ ͩक अगर बोर मॉडल मɅ क¢ाएँ असतत न होकर सतत होतीं, तो हाइĜोजन 
èपेÈĚम कैसा Ǒदखता? 

Propose a hypothesis on how the hydrogen spectrum would appear if Bohr’s model had continuous 
rather than discrete orbits. 

6 

यह दशा[इए ͩक बोर मॉडल मɅ इलेÈĚॉन कȧ कुल ऊजा[ नकारा×मक होती है और यह क¢ा संÉया n के 
साथ कैसे पǐरवǓत[त होती है। 
Show that in Bohr’s model, the total energy of an electron is negative and explain how it changes 
with orbit number n. 

7 

यह दशा[ने के ͧलए एक गणना करɅ ͩक हाइĜोजन परमाणु मɅ िèथǓतज ऊजा[, गǓतज ऊजा[ से दगुुनी 
होती है और कुल ऊजा[ उनकȧ राͧश के आधी होती है। 
Perform a calculation to show that in a hydrogen atom, the potential energy is twice the kinetic 
energy and the total energy is half their sum. 

8 

एक Ĥयोग सझुाएँ िजससे यह ͧसɮध ͩकया जा सके ͩक परमाणु मɅ इलेÈĚॉन ͪवͧशçट ऊजा[ èतरɉ मɅ 
िèथत होते हɇ। 
Suggest an experiment to prove that electrons in an atom occupy discrete energy levels. 

9 

हाइĜोजन परमाणु मɅ एक इलेÈĚॉन का n= 4 से n=2 क¢ा मɅ संĐमण होने पर उ×सिज[त फोटॉन कȧ 
ऊजा[ £ात करɅ। (: RH=1.097×, h=6.63×10−34 Js, c=3.0×108m/s) 

Calculate the energy of the photon emitted when an electron transitions from n=4 to n=2 in a 
hydrogen atom. 

10 
यǑद ͩकसी परमाणु नाͧभक मɅ केवल कूलाम  बल काय[रत होत,े तो Èया पǐरणाम होते? èपçट करɅ। 
If only Coulomb forces acted inside an atomic nucleus, what would be the consequences? Explain. 

11 
नाͧभकȧय बलɉ कȧ ĤकृǓत को ͪवɮयुत-आकष[ण और गुǽ×वाकष[ण बलɉ से तुलना करके èपçट करɅ। 
Compare the nature of nuclear forces with electrostatic and gravitational forces. 

12 
एक Ēाफ ɮवारा यह दशा[इए ͩक ͩकसी नाͧभक कȧ ǒğÏया परमाणु संÉया A के साथ कैसे बदलती है। 
Show by a graph how the radius of a nucleus varies with atomic mass number A. 

13 

यǑद ͩकसी नाͧभक के आकार को अनुमाǓनत करने के ͧलए कोई Ĥयोगा×मक ͪवͬध अपनाई जाए, तो 
आप कौन सी ͪवͬध सुझाएंगे? इसे सं¢ेप मɅ समझाएँ। 
If an experimental method were to be used to estimate the size of a nucleus, which method would 
you suggest? Explain briefly. 

14 

नाͧभकȧय संलयन मɅ ĤǓत ÛयूिÈलयॉन ऊजा[ उ×पादन नाͧभकȧय ͪवखंडन कȧ तुलना मɅ अͬधक होता 
है। Èयɉ? 

In nuclear fusion, energy production per nucleon is greater than in nuclear fission. Why? 
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15 

यह åयाÉया करɅ ͩक लौह (Fe) सबसे िèथर त×व Èयɉ माना जाता है और इसका Ħéमांडीय मह×व 
Èया है। 
Explain why iron (Fe) is considered the most stable element and its cosmic significance. 

16 

यǑद नाͧभकȧय संलयन को कृǒğम Ǿप से Ǔनयंǒğत ͩकया जाए, तो यह पØृवी के ऊजा[ संकट को हल 
करने मɅ कैसे सहायक होगा? तक[  सǑहत उƣर दɅ। 
If nuclear fusion is artificially controlled, how can it help solve Earth’s energy crisis? Justify your 
answer. 

17 

यǑद ͩकसी नाͧभकȧय अͧभͩĐया मɅ कुल ġåयमान हाǓन 0.003 u है, तो मÈुत ऊजा[ कȧ गणना करɅ। 
(दȣ गई: 1u=931.51 MeV) 

If a nuclear reaction results in a mass defect of 0.003 u, calculate the energy released. (Given: 
1u=931.5 MeV) 

18 

यǑद ͩकसी नाͧभक के ÛयूिÈलयॉन कȧ औसत बधंन ऊजा[ कम होने लगे, तो इससे नाͧभक कȧ 
िèथरता पर Èया Ĥभाव पड़गेा? èपçट करɅ। 
If the average binding energy of nucleons in a nucleus decreases, how would it affect nuclear 
stability? Explain. 

19 

Èया कोई ऐसा नाͧभकȧय अͧभͩĐया पथ संभव है िजससे संलयन और ͪवखंडन दोनɉ कȧ ऊजा[ का 
उपयोग ͩकया जा सके? अपने सुझाव दɅ। 
Is there a possible nuclear reaction pathway that could utilize both fusion and fission energy? Suggest 
your idea. 

20 

ͩकसी त×व के दो समèथाǓनकɉ कȧ ġåयमान संÉयाएँ A1 और A2 हɇ, तो औसत परमाणु ġåयमान कȧ 
गणना हेतु सूğ åयु×पÛन करɅ और इसे एक उदाहरण ɮवारा समझाएँ। 
Derive a formula to calculate the average atomic mass of an element with two isotopes having mass 
numbers A1 and A2, and explain with an example 

21 

एक अãफा-कण को 6 MeV ऊजा[ के साथ दागा जाता है। यǑद इसे सोने कȧ पÛनी ɮवारा ͪव¢ेͪपत ͩकया जाता है, 

तो Ûयूनतम Ǔनकटतम दरूȣ £ात करɅ  िजस तक यह नाͧभक के पास आ सकता है। 

An alpha particle is fired with an energy of 6 MeV. If it is deflected by a gold foil, find the 
minimum distance of closest approach to the nucleus. 

22 हाइĜोजन परमाणु के ͧलए n = 4 क¢ा मɅ इलेÈĚॉन कȧ ǒğÏया और वेग £ात करɅ। 

Find the radius and velocity of an electron in the n = 4 orbit of a hydrogen atom. 

23 यǑद ͩकसी एकल इलेÈĚॉन परमाणु मɅ इलेÈĚॉन कȧ ऊजा[ -1.5 eV है, तो वह ͩकस क¢ा मɅ िèथत होगा? 

If the energy of an electron in a single-electron atom is -1.5 eV, then in which orbit will it be located? 



 

11 | P a g e  
 

24 

बोर मॉडल के अनसुार, यǑद इलÈेĚॉन नाͧभक के चारɉ ओर वƣृीय क¢ा मɅ पǐरĐमा कर रहा है, तो उसके  
कोणीय सवंेग का समीकरण åय×ुपÛन करɅ।  Èवाटंȣकरण ͧसɮधांत कȧ भौǓतक और गͨणतीय åयाÉया करɅ, तथा 
समझाएं ͩक यह परमाण ुकȧ िèथरता को कैसे समझाता है। 
According to Bohr’s model, if an electron revolves around the nucleus in a circular orbit, derive the 
expression for its angular momentum. Explain the physical and mathematical basis of the 
quantization principle and how it accounts for atomic stability. 

25 

(i) ͩकसी नाͧभक कȧ ǒğÏया 4.2 fm है। इसका ġåयमान सÉंया £ात करɅ। 
(ii) यǑद Ĥ×येक ÛयिूÈलयॉन का ġåयमान लगभग 1.67 × 10⁻²⁷ ͩकĒा है, तो नाͧभक का कुल ġåयमान £ात 
करɅ। 
(i) The radius of a nucleus is 4.2 fm. Determine its mass number. 
(ii) If the mass of each nucleon is approximately 1.67 × 10⁻²⁷ kg, calculate the total mass of the nucleus. 

26 

ͩकसी त×व का परमाणु ġåयमान 240 amu है और उसका ġåयमान सÉंया 94 है। 

(i) उसकȧ ġåयमान सÉंया के आधार पर Ĥोटॉन और ÛयĚूॉन कȧ सÉंया £ात करɅ। 

(ii) परमाणु ġåयमान के सापे¢, ġåयमान ¢Ǔत )Mass Defect) कȧ गणना करɅ। 
(iii) ĤǓत ÛयिूÈलयॉन बधंन ऊजा[ कȧ औसत मान Ǔनकाͧलए और इसका परमाणु िèथरता पर Ĥभाव बताइए। 

  Ĥोटॉन का ġåयमान = 1.0078 amu 

  ÛयूĚॉन का ġåयमान = 1.0087 amu 

 
An element has an atomic mass of 240 amu and a mass number of 94. 
(i) Calculate the number of protons and neutrons based on the mass number. 
(ii) Calculate the mass defect of the nucleus. 
(iii) Find the average binding energy per nucleon and discuss its significance in terms of nuclear stability. 
  Mass of a proton = 1.0078 amu 
  Mass of a neutron = 1.0087 amu 
 

27 

एक यूरेǓनयम नाͧभक ͪवखंडन के दौरान दो भागɉ मɅ टूटता है, और उ×सिज[त ऊजा[ 220 MeV है। यǑद 1g 

यूरेǓनयम पूरȣ तरह से ͪवखंडन करे, तो कुल ऊजा[ £ात करɅ। 

A uranium nucleus splits into two fragments during fission, releasing 220 MeV of energy. If 1g 
of uranium undergoes complete fission, determine the total energy released. 

28 

हाइĜोजन परमाणु के एक Ǔनिæचत ऊजा[ èतर मɅ इलेÈĚॉन कȧ गǓतज ऊजा[ 10.2 eV है। 
(i) इलेÈĚॉन कȧ िèथǓतज ऊजा[ £ात कȧिजए। 
(ii) इस èतर पर कुल ऊजा[ कȧ गणना कȧिजए। 
(iii) ĤाÜत पǐरणामɉ के आधार पर यह ͪवæलेषण कȧिजए ͩक इलेÈĚॉन कȧ कुल ऊजा[, िèथǓतज एवं 
गǓतज ऊजा[ के अनुपात मɅ ͩकस Ĥकार संबंͬधत होती है। 
The kinetic energy of an electron in a certain energy level of a hydrogen atom is 10.2 eV. 
(i) Determine the potential energy of the electron. 
(ii) Calculate the total energy in that energy level. 
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(iii) Analyze and explain the relation between total, kinetic, and potential energy at that level. 

Long Answer Questions (4 Marks Each) 
S.No Question 

1  रदरफोड[ के Ĥकȧण[न Ĥयोग मɅ अͬधकांश α-कण ǒबना ͩकसी ͪव¢ेपण के सोने कȧ पÛनी स ेसीधे Ǔनकल  
गए, जबͩक कुछ कण अ×यͬधक ͪव¢ेͪपत हुए। इस Ĥयोग के पǐरणामɉ से नाͧभक कȧ उपिèथǓत, उसकȧ 
सरंचना और परमाण ुमॉडल के ͪवकास के सदंभ[ मɅ Èया मह×वपणू[ Ǔनçकष[ ĤाÜत हुए? इस पǐरĤेêय मɅ 
रदरफोड[ के मॉडल और बाद मɅ इसमɅ ͩकए गये सशंोधनɉ कȧ तलुना करɅ। 
In Rutherford’s scattering experiment, most alpha particles passed through the gold foil undisturbed, 
while some were highly deflected. What important conclusions were drawn regarding the presence and 
structure of the nucleus and the development of atomic models based on these results? In this context, 
compare Rutherford’s model with subsequent modifications. 

2  रदरफोड[ मॉडल के अनुसार, इलेÈĚॉन Ǔनरंतर ऊजा[ खोते हुए नाͧभक मɅ ͬगर जाना चाǑहए, लेͩकन 
वाèतͪवकता मɅ ऐसा नहȣं होता। 
(i) बोहर के परमाणु मॉडल ɮवारा इस ͪवरोधाभास (paradox) कȧ åयाÉया कȧिजए। 
(ii) बोहर ͧसɮधांत मɅ ‘Èवांटम ĤकृǓत’ (quantum nature) कȧ Èया भूͧमका है? 

(iii) इस सÛदभ[ मɅ मैÈसवेल के ͪवɮयुत-चुबंकȧय ͧसɮधांत (Maxwell's electromagnetic theory) का 
ͪवæलेषण कȧिजए। 

According to Rutherford’s atomic model, electrons should continuously lose energy and spiral 
into the nucleus, but this does not happen in reality. 
(i) How is this paradox resolved by Bohr’s atomic model? 
(ii) What is the role of the 'quantum nature' in Bohr’s theory? 
(iii) Analyze Maxwell’s electromagnetic theory in this context. 

3  बोहर मॉडल के अनसुार, हाइĜोजन परमाणु मɅ ऊजा[ èतर असतत )discrete) होत ेहɇ और इलेÈĚॉन एक 
ऊजा[ èतर से दसूरे मɅ कूदते हɇ, िजससे ͪवͩकरण उ×सिज[त होता है। 

(i) बोहर ने इन असतत ऊजा[ èतरɉ कȧ ĤकृǓत को ͩकस Ĥकार ͧसɮध ͩकया? 

(ii) बोहर मॉडल कȧ ͩकन सीमाओं के कारण यह बहु  -इलेÈĚॉन परमाणओुं ) multi-electron atoms) के ͧलए 
असफल ͧसɮध होता है? 
According to Bohr’s model, the energy levels in a hydrogen atom are discrete, and electrons jump 
between these levels, emitting radiation. 
(i) How did Bohr justify the nature of these discrete energy levels? 
(ii) Why does Bohr’s model fail in explaining the structure of atoms with more than one electron? 

4 रदरफोड[ के परमाणु मॉडल कȧ दो Ĥमखु सीमाओं कȧ पहचान करɅ और Ĥ×येक को उदाहरण सǑहत èपçट 
करɅ। इन सीमाओं के कारणɉ का ͪवæलेषण करɅ। 
साथ हȣ यह èपçट करɅ ͩक Èया बोहर मॉडल ने रदरफोड[ मॉडल कȧ इन सीमाओ ंका समाधान ͩकया? यǑद 
हा,ँ तो वह ͩकन व£ैाǓनक ͧसɮधांतɉ पर आधाǐरत था? 
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Identify two major limitations of Rutherford’s atomic model and explain each with examples. Analyze 
the reasons for these limitations. 
Also, clarify whether Bohr’s model resolved these limitations of Rutherford’s model. If yes, on which 
scientific principles was it based? 

5 नाͧभक कȧ सरंचना और उसका आकार वͨण[त करɅ। नाͧभकȧय घन×व कȧ गणना कैसे कȧ जाती है? साथ 
हȣ, परमाणु के ġåयमान का अͬधकांश भाग नाͧभक मɅ सकंɅ Ǒġत होने के मह×व को समझाएं। 
Describe the composition and size of the nucleus. How is nuclear density calculated? Also, discuss the 
significance of most of the atom’s mass being concentrated in the nucleus. 

6 नाͧभकȧय बलɉ कȧ ĤकृǓत को समझाएं। नाͧभकȧय बलɉ कȧ Èया सीमा होती है? इनकȧ तलुना िèथर 
वɮैयतु बलɉ से करɅ तथा  नाͧभकȧय बलɉ के मह×व का मãूयांकन करɅ। 
Explain the nature of nuclear forces. What is the range of nuclear forces? Compare them with 
electrostatic forces and evaluate the significance of nuclear forces. 

7 परमाणु ġåयमान सÉंया के साथ बधंन ऊजा[ ĤǓत ÛयिूÈलयॉन मɅ पǐरवत[न को एक Ēाफ के माÚयम से 
èपçट कȧिजए। 
इस Ēाफ के आधार पर यह समझाइए ͩक नाͧभकȧय ͪवखंडन और नाͧभकȧय सलंयन मɅ Èया अतंर होता 
है और ये दोनɉ ĤͩĐया कैस ेऊजा[ उ×पÛन करती हɇ। 
Using a graph, explain how the binding energy per nucleon varies with the atomic mass number. 
Based on this graph, explain the difference between nuclear fission and nuclear fusion and how each 
process releases energy. 
 

8 नाͧभकȧय ͪवखंडन और नाͧभकȧय संलयन कȧ तुलना करɅ और उनके अनुĤयोगɉ कȧ चचा[ करɅ। 
इनमɅ से कौन सी ĤͩĐया अͬधक िèथर ऊजा[ उ×पादन Ĥदान करती है, और Èयɉ? साथ हȣ, इस 
Ĥकार कȧ ĤͩĐयाओं को सुरͯ¢त और Ĥभावी तरȣके से लागू करने के ͧलए Èया चुनौǓतयाँ हɇ? 

Compare nuclear fission and nuclear fusion and discuss their applications. Which of these 
processes provides more stable energy production, and why? Additionally, what challenges are 
faced in safely and effectively implementing such processes? 

 

Case Study Questions 

Case Study 1: 

ǑहÛदȣ English 

रदरफोड[ ने सोने कȧ पतलȣ पÛनी पर अãफा-
कणɉ कȧ बमबारȣ कर यह Ǔनçकष[ Ǔनकाला ͩक 
परमाणु के कɅ ġ मɅ एक छोटा, घना और 
धना×मक Ǿप से आवेͧशत नाͧभक होता है। 
अͬधकांश कण ǒबना ͪवचलन के सीधे पार हो 

Rutherford bombarded a thin gold foil with alpha 
particles and concluded that the atom has a small, 
dense, positively charged nucleus at its center. Most 
particles passed through without deflection, some were 
deflected, and a few reflected at large angles. This 
changed the perception of atomic structure. 
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गए, जबͩक कुछ ͪव¢ेͪपत हो गए और कुछ 
बहुत बड़ ेकोण पर परावǓत[त हुए। इसने परमाणु 
के मॉडल कȧ धारणा को बदल Ǒदया। 

Ĥæन / Questions: 

1. अãफा-कणɉ का अͬधकांश भाग ǒबना ͪवचलन के Èयɉ गुजर गया? (1 अकं) 
Why did most alpha particles pass through without deflection? 

2. रदरफोड[ के Ĥयोग मɅ कुछ अãफा-कण बहुत बड़ ेकोण पर परावǓत[त Èयɉ हुए? (1 अकं)  

Why were some alpha particles reflected at large angles in Rutherford's experiment? 

3. इस Ĥयोग ने परमाणु के ͩकस मॉडल को गलत साǒबत ͩकया? (2 अकं) 
Which atomic model was disproved by this experiment? 

 

Case Study 2:  

ǑहÛदȣ English 

बोर ने परमाण ुके ऊजा[ èतरɉ कȧ åयाÉया करने के 
ͧलए अपने मॉडल का उपयोग ͩकया, िजसमɅ उÛहɉने 
कहा ͩक इलेÈĚॉन केवल कुछ Ǔनिæचत ऊजा[ èतरɉ 
पर हȣ रह सकते हɇ। जब कोई इलेÈĚॉन उÍच ऊजा[ 
èतर से Ǔनàन ऊजा[ èतर पर ͬगरता है, तो एक 
Ǔनिæचत ऊजा[ का फोटॉन उ×सिज[त होता है, िजसस े
हाइĜोजन èपेÈĚम बनता है। 

Bohr used his model to explain the energy levels of 
an atom, stating that electrons can only occupy 
specific energy levels. When an electron jumps 
from a higher to a lower energy level, a photon of 
definite energy is emitted, producing the hydrogen 
spectrum. 

Ĥæन / Questions: 

1. बोर मॉडल मɅ इलेÈĚॉन ͩकसी भी ऊजा[ èतर पर Èयɉ नहȣं रह सकते?        (1 अकं) 
 Why can’t electrons occupy any energy level in Bohr’s model? 

2. हाइĜोजन èपेÈĚम मɅ रेखाओं का कारण Èया है?                                         (1 अकं) 
What causes the lines in the hydrogen spectrum? 

3. बोर मॉडल कȧ कौन-कौन सी सीमाएँ हɇ?                                                       (2 अकं) 
What are the limitations of Bohr’s model? 

 

Case Study 3:  

ǑहÛदȣ English 

परमाणु के नाͧभक का आकार और संरचना The size and composition of the atomic nucleus have 
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वै£ाǓनकɉ के ͧलए एक मह×वपूण[ ͪवषय रहा है। 
नाͧभक Ĥोटॉन और ÛयूĚॉन से ͧमलकर बना 
होता है। रदरफोड[ के Ĥयोगɉ से पता चला ͩक 
नाͧभक का आकार बहुत छोटा होता है, और 
इसका औसत ǒğÏया से Ǔनकाला जा सकता है, 

जहाँ एक Ǔनयतांक है और ġåयमान संÉया है। 

been a crucial topic for scientists. The nucleus consists 
of protons and neutrons. Rutherford’s experiments 
revealed that the nucleus is very small, and its average 
radius is given by , where is a constant and is the mass 
number. 

Ĥæन / Questions: 

1. नाͧभक मɅ कौन-कौन से कण पाए जाते हɇ?                                                        (1 अकं) 
Which particles are found in the nucleus? 

2.  नाͧभक कȧ ǒğÏया ͩकस समीकरण से दȣ जाती है?                                          (1 अकं) 
What is the equation for the nuclear radius? 

3. बड़ ेनाͧभक छोटे नाͧभक कȧ तुलना मɅ अͬधक अिèथर Èयɉ होते हɇ?                  (2 अकं) 
Why are larger nuclei more unstable compared to smaller nuclei? 

 

Case Study 4:  

ǑहÛदȣ English 

अãबट[ आइंèटȣन ने ऊजा[ और ġåयमान के बीच 
संबंध को समीकरण ɮवारा ĤǓतपाǑदत ͩकया, िजससे 
यह पता चला ͩक ġåयमान को ऊजा[ मɅ बदला जा 
सकता है। नाͧभक मɅ बंधन ऊजा[ ĤǓत ÛयूिÈलओन 

परमाणु कȧ िèथरता को दशा[ती है। 

Albert Einstein established the relationship between 
energy and mass using the equation , showing that 
mass can be converted into energy. The binding 
energy per nucleon indicates the stability of the 
nucleus. 

Ĥæन / Questions: 

1. ġåयमान-ऊजा[ संबंध कौन सा समीकरण åयÈत करता है?                                        (1 अकं) 
 Which equation expresses the mass-energy relation? 

2.  नाͧभक कȧ िèथरता ͩकस कारक पर Ǔनभ[र करती है?                                           (1 अकं) 
On what factor does nuclear stability depend? 

3. छोटे त×वɉ मɅ नाͧभकȧय संलयन अͬधक ऊजा[ Èयɉ उ×पÛन करता है?                  (2 अकं) 
Why does nuclear fusion in smaller elements release more energy? 
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Case Study 5:  

ǑहÛदȣ English 

नाͧभकȧय ͪवखंडन और संलयन ऊजा[ उ×पादन के 
मह×वपूण[ साधन हɇ। ͪवखंडन मɅ एक भारȣ नाͧभक 
दो छोटे नाͧभकɉ मɅ ͪवभािजत होता है, िजसस ेऊजा[ 
मुÈत होती है, जैसे यूरेǓनयम-235 ͪवखंडन। संलयन 
मɅ दो हãके नाͧभक ͧमलकर एक भारȣ नाͧभक 
बनाते हɇ, जैसे हाइĜोजन परमाणुओं का संलयन 
िजसस ेसयू[ ऊजा[ उ×पÛन करता है। 

Nuclear fission and fusion are crucial energy 
production processes. In fission, a heavy 
nucleus splits into two smaller nuclei, 
releasing energy, such as uranium-235 
fission. In fusion, two light nuclei combine to 
form a heavier nucleus, such as hydrogen 
fusion, which powers the Sun. 
 

Ĥæन / Questions: 

1. नाͧभकȧय ͪवखंडन कȧ एक उदाहरण दɅ।                                                   (1 अकं) 
Give an example of nuclear fission. 

2. सूय[ मɅ कौन सी ĤͩĐया ऊजा[ उ×पÛन करती है?                                     (1 अकं) 
Which process produces energy in the Sun? 

3. नाͧभकȧय संलयन ͪवखंडन से अͬधक ऊजा[ Èयɉ उ×पÛन करता है?        (2 अकं) 
 Why does nuclear fusion release more energy than fission? 

 


